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Supplementary Information

VLE data and coefficients and standard deviations for G

representation by eqn. 1 for propan-1-ol(1) + MTBE(2) at 298.15, 318.15, and 338.15 K

	x1
	p/kPa
	pcalc/kPa
	y1,calc
	G

/J mol–1
	ln 1
	ln 2

	T = 298.15 K

	0.0000
	33.22
	33.22
	0.0000
	0
	–
	0.0000

	0.0643
	31.71
	31.70
	0.0133
	160
	0.8979
	0.0074

	0.1009
	30.93
	30.93
	0.0192
	236
	0.7901
	0.0170

	0.1547
	29.89
	29.86
	0.0266
	328
	0.6548
	0.0368

	0.2061
	28.86
	28.88
	0.0329
	398
	0.5469
	0.0604

	0.2596
	27.86
	27.88
	0.0390
	455
	0.4528
	0.0889

	0.3065
	26.97
	26.98
	0.0444
	491
	0.3824
	0.1167

	0.3574
	25.99
	25.98
	0.0503
	518
	0.3165
	0.1494

	0.4064
	25.02
	24.97
	0.0563
	533
	0.2615
	0.1834

	0.4554
	23.99
	23.90
	0.0628
	538
	0.2135
	0.2196

	0.4767
	23.38
	23.42
	0.0658
	536
	0.1946
	0.2362

	0.5051
	22.67
	22.75
	0.0701
	532
	0.1709
	0.2589

	0.5444
	21.72
	21.78
	0.0765
	520
	0.1412
	0.2917

	0.5908
	20.56
	20.55
	0.0853
	499
	0.1102
	0.3325

	0.6354
	19.31
	19.27
	0.0953
	470
	0.0843
	0.3735

	0.6499
	18.77
	18.83
	0.0990
	459
	0.0767
	0.3872

	0.6903
	17.67
	17.53
	0.1107
	425
	0.0575
	0.4260

	0.7327
	16.02
	16.04
	0.1262
	384
	0.0406
	0.4677

	0.7691
	14.57
	14.64
	0.1433
	343
	0.0287
	0.5036

	0.7851
	14.03
	13.98
	0.1524
	324
	0.0242
	0.5194

	0.8029
	13.18
	13.22
	0.1640
	301
	0.0197
	0.5368

	0.8774
	9.70
	9.69
	0.2410
	198
	0.0063
	0.6063

	1.0000
	2.64
	2.64
	1.0000
	0
	0.0000
	–

	P0 = 0.860 ± 0.004; P1 = –0.160 ± 0.005; P2 = 0.049 ± 0.009; P3 = –0.06 ± 0.02                       x = 0.0005; p = 38 Pa.
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	x1
	p/kPa
	pcalc/kPa
	y1,calc
	G

/J mol–1
	ln 1
	ln 2

	T = 318.15 K

	0.0000
	71.48
	71.48
	0.0000
	0
	–
	0.0000

	0.0496
	69.08
	69.13
	0.0152
	115
	0.8082
	0.0034

	0.1026
	66.83
	66.78
	0.0287
	218
	0.6841
	0.0135

	0.1543
	64.62
	64.59
	0.0402
	301
	0.5797
	0.0289

	0.2075
	62.41
	62.41
	0.0509
	371
	0.4865
	0.0494

	0.2590
	60.28
	60.32
	0.0607
	423
	0.4080
	0.0733

	0.3087
	58.27
	58.29
	0.0700
	461
	0.3419
	0.0994

	0.3612
	56.06
	56.08
	0.0800
	488
	0.2807
	0.1303

	0.4109
	53.91
	53.92
	0.0899
	503
	0.2301
	0.1620

	0.4616
	51.60
	51.59
	0.1009
	506
	0.1848
	0.1970

	0.5129
	49.11
	49.07
	0.1131
	499
	0.1451
	0.2347

	0.5583
	46.75
	46.68
	0.1254
	485
	0.1146
	0.2699

	0.5792
	45.49
	45.51
	0.1317
	475
	0.1019
	0.2866

	0.6241
	42.84
	42.87
	0.1469
	450
	0.0777
	0.3232

	0.6660
	40.16
	40.19
	0.1639
	419
	0.0584
	0.3583

	0.7238
	36.09
	36.12
	0.1937
	368
	0.0368
	0.4072

	0.7732
	32.24
	32.24
	0.2282
	316
	0.0228
	0.4488

	0.8215
	28.08
	28.05
	0.2755
	258
	0.0128
	0.4883

	0.8456
	25.81
	25.81
	0.3068
	227
	0.0090
	0.5072

	0.8682
	23.65
	23.62
	0.3429
	197
	0.0062
	0.5241

	0.8918
	21.29
	21.24
	0.3905
	164
	0.0039
	0.5411

	0.9244
	17.67
	17.78
	0.4817
	116
	0.0017
	0.5627

	0.9606
	13.80
	13.77
	0.6445
	62
	0.0004
	0.5835

	1.0000
	9.22
	9.22
	1.0000
	0
	0.0000
	–

	P0 = 0.759 ± 0.001; P1 = –0.141 ± 0.002; P2 = 0.013 ± 0.003; P3 = –0.029 ± 0.006                       x = 0.0002; p = 24 Pa.
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	x1
	p/kPa
	pcalc/kPa
	y1,calc
	G

/J mol–1
	ln 1
	ln 2

	T = 338.15 K

	0.0000
	137.71
	137.71
	0.0000
	0
	–
	0.0000

	0.0597
	133.65
	133.06
	0.0243
	129
	0.7004
	0.0042

	0.1110
	128.65
	129.13
	0.0417
	220
	0.5895
	0.0146

	0.1622
	125.06
	125.42
	0.0566
	295
	0.4879
	0.0306

	0.2147
	121.29
	121.70
	0.0703
	354
	0.3945
	0.0523

	0.2661
	117.72
	118.07
	0.0828
	395
	0.3144
	0.0776

	0.3207
	114.60
	114.12
	0.0959
	424
	0.2414
	0.1078

	0.3695
	110.87
	110.32
	0.1081
	436
	0.1866
	0.1366

	0.4217
	105.75
	105.88
	0.1223
	437
	0.1385
	0.1681

	0.4675
	101.76
	101.64
	0.1363
	430
	0.1043
	0.1954

	0.5201
	96.65
	96.27
	0.1550
	412
	0.0735
	0.2254

	0.5469
	93.29
	93.29
	0.1659
	399
	0.0608
	0.2399

	0.5747
	89.96
	90.05
	0.1784
	384
	0.0496
	0.2542

	0.6098
	85.30
	85.72
	0.1963
	362
	0.0380
	0.2710

	0.6725
	77.17
	77.41
	0.2355
	318
	0.0230
	0.2976

	0.7314
	68.65
	68.99
	0.2841
	269
	0.0139
	0.3188

	0.7792
	62.37
	61.84
	0.3353
	227
	0.0091
	0.3337

	0.8228
	55.00
	55.08
	0.3954
	186
	0.0059
	0.3464

	0.8769
	46.87
	46.52
	0.4963
	133
	0.0031
	0.3624

	0.9391
	36.09
	36.37
	0.6759
	68
	0.0009
	0.3844

	1.0000
	26.07
	26.07
	1.0000
	0
	0.0000
	–

	P0 = 0.606 ± 0.004; P1 = –0.253 ± 0.008; P2 = 0.01 ± 0.01; P3 = –0.04 ± 0.02                            x = 0.0004; p = 31 Pa.
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